EE 202 (122)- HW2

Due Monday 25/2/2013
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140 00

00 %0

b

28
120

(©

Q1 For the circuits shown above , find the equivalent resistant between nodes a and b
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60]|20 = 1200/80 = 150 12]|24 = 288/36 = 80}

154+8+T7=304Q

30||120 = 3600/150 = 24

Rap =154+ 24+ 25 = 642

35 4 40 = 75
30 + 20 = 500
30 + 10 = 409
30[|30 = 159

50 + 30 = 80¢2

16 + 14 = 30Q
54/]27 = 18
30(|30 = 15

75|50 = 3750/125 = 30}
50||75 = 3750/125 = 30
40]/60 + 9|18 = 24 + 6 = 3002
Rapy=10+15+5 =300

80J|20 = 1692
30+ 24 = 540
18 + 12 = 300

Rypb=3+154+2=20Q
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For the circuit shown above , find the followings:

(a) V1 using voltage division method only ?

(b) 'V, using current division method only ?
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For the circuit shown above , find the followings:

(a) Vx using voltage division method only ?

(b) I, using current division method only ?
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For the circuit shown above , using the node voltage method find the followings :
(a) The power deliver by the 30 V independent voltage source ?

(b) The power absorb by the dependent voltage source ?
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Q4 ( Continue)
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For the circuit shown above , using the Mesh current method find the followings :

(a) The power deliver by the dependent current source?

(b) The power absorb by the 3 Q resistor ?
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Q5 (continue)
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